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2008-09 District Competition

Match #8 (Regular Season)


These questions are for use in the Virginia High School League’s Scholastic Bowl District regular season competition. These questions were originally used in the 2008 Missouri State High School Activities Association State tournament. 

Districts must observe the following conditions, which must be known by all coaches, competitors and spectators of the competition:

(a)
Public discussion of these questions before all VHSL District champions have been determined is prohibited. 

(b)
Releasing these questions to entities outside your District’s competition is prohibited. 

First period: 15 tossups, 10 points each
1.
This Communist leader refused to take part in the 1984 Olympic boycott and the 1968 invasion of Czechoslovakia. He was executed on Christmas Day, 1989, and replaced Ion Iliescu. Who was this last leader of Communist Romania? 

ANSWER: Nicolae Ceaucescu (CHOH-che-skoo)

2.
Insects that go through this stage undergo hemimetabolism to become adults and never enter a pupa stage. Crickets, grasshoppers, and dragonflies are born as what insect form that is a smaller version of the adult? 

ANSWER: nymph(s)

3.
He starred with Robert Culp in I Spy and appeared in live-action segments of Fat Albert. More recently, he hosted Kids Say the Darndest Things, but his best-known TV role was in an eponymous show with Phylicia Rashad. Who re-entered the news in 2006 for his ‘Pound Cake’ speech in which he criticized aspects of African-American culture?


ANSWER: Bill Cosby
4.
He created the city of Arkham in the Miskatonic Valley in his fictional New England. His two earliest story types are the Macabre and the Dream Cycle stories. What horror writer created a mythology based around the Great Old One, Cthulhu? 

ANSWER: H.P. Lovecraft
5.
THIS IS A 10-SECOND COMPUTATION QUESTION.  A cylinder has a volume of 33 pi cu in.  A cone with the same circular base has what volume?


ANSWER:  22 pi cu. in.
6.
Its dialects include Levantine and Maghrebi. Another dialect has evolved into the Maltese language. Its alphabet was once used for Turkish. The most spoken Semitic language is what language spoken from Morocco to Iraq? 

ANSWER: Arabic
7.
The Jones Act of 1920 forced exports from this then-territory to be shipped through Seattle. In 1977, an oil pipeline was constructed across this state, adding to the annual payment from its Permanent Fund. What was  the 49th state admitted to the US? 

ANSWER: Alaska
8.
Brandy Norwood was a judge in this show’s first season, which was hosted by Regis Philbin. Norwood was replaced as a judge by Sharon Osbourne, and Philbin was replaced as host by Jerry Springer. Despite creating the show, Simon Cowell cannot be one of the judges. Changes have been made to prevent an excess of singers from reaching the final. What is this competition that airs during the summer on NBC? 


ANSWER: America’s Got Talent
9.
The process involving this class of gases was discovered by Joseph Fourier in 1824. The Earth’s surface radiates infrared energy that these gases absorb. Water vapor, methane, and carbon dioxide are three examples of what gases that lead to global warming? 

ANSWER: greenhouse gas(es)

10.
In Pascal, this procedure is not named. Perl does not have one, and in Java, this method is public and static. In C and C++, what function calls all the other functions in a program?

ANSWER: main function or main procedure

11.
He continued directing into the 1990s, with films such as Dreams, Rhapsody in August, and Madadayo. His first credited film was 1943’s Sanshiro Sugata, or Judo Saga. Who is this director of Yojimbo and Seven Samurai? 


ANSWER: Akira Kurosawa or Kurosawa Akira

12.
People with a too-high level of this hormone suffer necrolytic migratory erythema. It is manufactured in the alpha cells of the islets of Langerhans. What hormone, the opposite of insulin, makes the liver turn glycogen into glucose? 

ANSWER: glucagon (DO NOT accept glucagen or glucose)
13.
These islands also govern the uninhabited island of South Georgia. Stanley is their capital. What islands, ruled by the United Kingdom, are called the Islas Malvinas by nearby Argentina? 

ANSWER: Falkland Islands (accept Islas Malvinasu before said in the question)

14.
In 1931, this department store chain started Allstate Insruance. It is also associated with the Discover credit card and Kenmore appliances. It built a new headquarters in Chicago in 1974, which it never did fill. In 2004, what department store chain was bought by K-Mart? 

ANSWER: Sears and Roebuck

15.
The title character of this epic with seventeen cantos has affairs with Haidée, a Greek pirate’s daughter, and Gulbeyaz, the wife of a Sultan. What is this unfinished masterpiece by Lord Byron where the title character is not a ruthless seducer? 


ANSWER: Don Juan (don JOO-in)

Second period, 10 directed questions per team, 10 points each
Set A questions have an ‘A’ after their number; set B questions have a ‘B.’ 

1A.
What cellular organelle has nine triplets of microtubules and helps organize the formation of a mitotic spindle?

ANSWER: centriole (DO NOT accept ‘centromeres’)

1B.
Philip Schoonover is the CEO of what Richmond-based retailer that was hoping to merge with Blockbuster?


ANSWER: Circuit City
2A.
What is the third-largest city in Missouri after St. Louis and Kansas City?


ANSWER: Springfield
2B.
What name is given to any non-red, gemstone-quality variety of corundum?


ANSWER: sapphire
3A.
What Mark Twain character bears a strange resemblance to the future King Edward VI? 


ANSWER: Tom Canty (accept either)

3B.
What Union general lost the battle of Chancellorsville?


ANSWER: Joseph Hooker
4A.
Who started the 2008 season as the manager of the Washington Nationals? 


ANSWER: Manny Acta
4B.
What word for an overland journey comes from a Swahili word meaning ‘travel?’


ANSWER: safari
5A.
THIS IS A 20-SECOND COMPUTATION QUESTION.  Find 40 percent of the product of 4 1/8 and  5 1/11.  


ANSWER:  42/5  or  8 2/5 or 8.4
5B.
THIS IS A 20-SECOND COMPUTATION QUESTION.  Angle theta has a terminal point at (5, 7).  In reduced radical form, find the sine of theta.  


ANSWER:  7 /74 * sqrt(74) (7 seventy-fourths times the square root of 74, accept equivalent answers)

6A.
What is the largest Protestant group, by membership, in the United States?

ANSWER: Southern Baptist (prompt on ‘Baptist’)
6B.
What wife of Athos is the chief villain of The Three Musketeers?


ANSWER: Milady de Winter (accept either)

7A.
Consider the sentence ‘The quick brown fox jumped over the lazy gray dog.’ Restate that sentence in the present progressive tense.


ANSWER: The quick brown fox is jumping over the lazy gray dog.
7B.
What geography professor entered anthropology by publishing the 1997 work Guns, Germs, and Steel: The Fates of Human Societies? 


ANSWER: Jared Diamond
8A.
What chemistry term starting with the letter "D" refers to the net separation of positive and negative charges within a molecule?

ANSWER:
dipole (moment)

8B.
What goddess of memory was the mother of the nine Muses?

ANSWER: Mnemosyne (neh-MAW-sih-nee)

9A.
What religious group rebelled against the Chinese government between 1850 and 1864? 


ANSWER: Taiping Sect

9B.
Social Security and taxation are under the jurisdiction of what House committee?


ANSWER: United States House Committee on Ways and Means
10A.
THIS IS A 30-SECOND COMPUTATION QUESTION.  Find all 5 roots, imaginary and real, to the equation:  2X to the seventh power minus 1250X to the third power equals zero.  (2x7-1250x3=0)


ANSWER:  0, 5, -5, 5i, -5i
10B.
THIS IS A 30-SECOND COMPUTATION QUESTION. What is the product of 193 and 242?


ANSWER: 46,706
Third period, 15 toss-ups, 10 points each

1.
In 1981, Juan Carlos I made him the first Marquess of Salobreña for his service to music. He was the first to suggest using nylon strings instead of gut strings in his instrument. Who was this Spanish player of the classical guitar? 

ANSWER: Andres Segovia
2.
Fritz Haber tried to extract it from sea water in the 1920s. Nitric acid is used to test for its presence in a material. It is the most malleable metal as one ounce can be hammered into a sheet of 300 square feet. What element has a chemical symbol of Au?

ANSWER: gold
3.
Its believers practice a diet known as ‘I-tal’ (eye-tull). Its two best-known tenets are the divinity of Ethiopian Emperor Haile Selassie and the ritual use of marijuana during ‘reasonings.’ What is this religion associated with Jamaica and dreadlocks? 

ANSWER: Rastafari (accept word forms)

4.
This dynasty’s decline started with Aurangzeb’s death in 1707. It was not overthrown until the Sepoy Mutiny of 1857. What dynasty built the Taj Mahal, lends its name to a word meaning a very rich person, and ruled nearly all of India in the 17th century? 

ANSWER: Moghul or Mugal dynasty

5.
He is assisted by orchid expert Theodore Horstmann. Swiss cook Fritz Brenner helps him measure in at 5 feet 11 inches and nearly 300 pounds. He rarely leaves his New York brownstone, sending Archie Goodwin. Rex Stout created what private detective? 

ANSWER: Nero Wolfe
6.
This is a mathematical relationship between two numbers.  For 9 and 4 it is 6; for 2 and 4 it is two times the square root of two; for 3 and 7 it is the square root of 21.  What is this relationship defined as the square root of the product? 


ANSWER:  the geometric mean
7.
He wrote eighteen pages about his boss for the Junior Ganymede Club. He was a valet, not a butler, but could ‘buttle with the best of them.’ He worked for Earl Rowcester for one novel. What P.G. Wodehouse character was valet to Bertie Wooster? 

ANSWER: (Reginald) Jeeves
8.
His company, founded in 1981, sells financial information terminals to Wall Street and runs a business TV network. In February 2008, he declared that he would not be running for President. Who is the mayor of New York? 

ANSWER: Michael Bloomberg
9.
They consist of two phases: a continuous phase and a dispersed phase. One component is distributed evenly in the other in what type of mixture whose classes include sols, emulsions, gels, foams, and aerosols?

ANSWER: colloid
10.
These bones have two transverse processes projecting from their sides. Five of them fuse together to form the coccyx. Thoracic, cervical, lumbar, and pelvic are the types of what bones that form the spinal column? 

ANSWER: vertebrae
11.
This writer married Vivien Haigh-Wood and became a British subject in 1927. He wrote about the death of Thomas a Becket in the play Murder in the Cathedral. Who also wrote the poems Ash Wednesday, The Hollow Men, and The Waste Land? 

ANSWER: T.S. Eliot
12.
A borrowed Ferrari GT250 California, a Chicago Cubs game, and a Von Steuben Day parade feature in this movie. Girlfriend Sloane Peterson and best friend Cameron Frye accompany the title character. Matthew Broderick was the star of what movie in which a boring economics teacher is played by Ben Stein? 


ANSWER: Ferris Bueller’s Day Off

13.
When ‘in’ is placed before this word, it means to keep something restrained, such as anger. When ‘in’ is placed after this word, it means to register at a function. What word, when placed before ‘out,’ means to vacate and pay for a hotel room? 

ANSWER: check

14.
This molecule has a double backbone made from phosphate and pentose sugars, and has two asymmetric ends: 5-prime and 3-prime. The backbone has one of four different bases attached. What substance contains genetic instructions in the shape of a double helix? 

ANSWER: DNA

15.
Rufus King ran as its last Presidential candidate. Its political fortunes were doomed after the Hartford Convention of 1814. What party counted John Adams as a member and was in opposition to Thomas Jefferson’s Democratic-Republicans?

ANSWER: Federalist Party 

Spare questions 

Be sure to mark off questions as they are used. Replace, when possible, a discarded question with a spare in that area (i.e. science for science, English for English, etc.) 

1.
A sequel to this play has the title character living in Colonus, and a second sequel is about the brother-in-law, Creon, burying alive his daughter, Antigone. The end of what Sophocles play has the title character discovering his wife, Jocasta, is his mother? 

ANSWER: Oedipus Rex or Oedipus the King
2.
This procedure is often preceded by an Article 32 hearing. It has three levels: summary, special, and general, and have worldwide jurisdiction over the accused. The Uniform Code of Military Justice defines the American procedures for what military trials? 

ANSWER: court-martial
3.
He dabbled in fiction with the novel Julie, or the New Heloise. He is better known for works like Emile, or On Education and Of the Social Contract, Principles of Political Right. What Frenchman also wrote his autobiographical Confessions? 

ANSWER: Jean-Jacques Rousseau
4.
Binoculars use reflective ones, although the most familiar are the dispersive type. Snell’s law and the Huygens principle govern their behavior. Isaac Newton proved that they did not create new colors. What are these glass objects that split white light into a spectrum? 

ANSWER: prism
5.
THIS IS A 10-SECOND COMPUTATION QUESTION.  You are given that x varies inversely as y squared.  X equals 4 when y equals 5.  Find x when y equals 20.  


ANSWER:  ¼  or  .25
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